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A New Kind of War

Why did Schlieffen Plan fail?

1.

How was the Western front a stalemate?
o Trench Warfare (on the front)
o Trenches:

o No man's land:
e Verdune:

e Somme:

Modern Military Technology

Casualties on front due to modern weapons, especially and
Poison gas: First used by , then large scale by

1916 first introduced to break stalemate, but

Zeppelins:

German that tremendly damage to Allies (Nickname: U-Boat)

Other European Fronts

Tannenberg: Russia was equipped to fight.

was another battleground.




Allies had treaty with to give them

ruled lands
Global Conflict
Japan joined the in WWI
Why did Japan join?
Turks joined in 1914 and cut off supply
through

Ottoman Empire Joins WWI

Allies sent , , , to open straight
at Battle of . Who won?
Ottoman territory to Arabs led by

Deportation and Mass Murder

Armenians lived under and rule and

were (religion). Armenians were in

majority Ottoman Empire.
< 1.5 million killed and fled Turkey because Marches campaign>

What happened to European colonies during WWI?




